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1 (a) Define various data flow testing criteria
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(b) Explain different structural test coverage metrics
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2 (a) Define the following.
1. DD Path 2. Predicate Node 3. DU Path 4. DC Path
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Commuum ven Problem
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(b) List out the du paths for the variables locks, total locks and sales with the help of [06] CO3 L1

commission problem pseudocode.
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3 (a) Explain McCabe’s basis path method. Apply basis path method on triangle problem and [10]
explain.
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4 (a) With neat diagrams, explain the upper level finite state machine and context diagram of
Simple ATM Application.
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6 (a) Describe the decomposition based integration testing and distinguish between top
down integration and bottom up integration.
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